2g-12-1-1

RWbDoRE 1-O = g

R =

s

1] s %T(ii%-ﬁ)‘@ﬁh\‘{’%%iLi’)o A o
«—

(20 &)
O FLITLDEX 4| cm
2@ TFoOoSnEX 2 | mm
B BRXADHNS X 150 m
@ RLrDOFZHX 10 m
N hTEE2REEZE L L0 won e
@ 300cm= 3 I'm
@ 480cm= 4 m 80 |cm
® 2m98cm= 298 |cm
@ 4m8cm= 408 |cm
l:h\i‘h .
HFHEZLFILLEIYe wom PETETEY

@ Im38cm+ 20cm =1m58cm
@ 4m30cm + 2m =6m30cm
® 3m90cm — I m50cm =2m40cm

@ 4m70cm — 2m40cm =2m30cm
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@® 400cm= 4 m

@ 350cm= 3 'm 50 cm

® 6m45cm=| 645 cm

@ 6mbcm= 605 |cm
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@ Im25cm + 60cm =1m85cm

@ 3m40cm + 2m =5m40cm

® 2m30cm — Im|5cm =Iml5cm

@ 3m80cm — I m30cm =2m50cm
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@® 200cm= 2 m
@ 240cm= 2 'm 40 |cm
® 3m28cm= 328 |cm
@ 2mbcm= 205 |cm
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@ Im25cm+ 40cm =1m65cm

@ 3m50cm + | m =4m50cm

® 2m40cm — I m20cm =1m20cm

@ 2m80cm — I m40cm =1m40cm
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